XHANTI HOME ORGANIZER

MUEBLE XHANTI

Installation ideas ' Ideas de modulaciones

Adjustable from 36.2 in to 5.91 ft - Ajustable a espacios de 92 cmna 1.8 m

4 N\ /7 N\ N\ [ N\
= (

= -] l ml =
;zﬂ_, ==~ Bos

36.22in-92cm 492ft-15m 492ft-15m 1591f-18m

Garage * Cuarto (til Closet - Closet Linen closet * Cuarto de linos, Laundry * Zona de ropas

All accessories are included * Todos los accesorios estan incluidos

: & | l,'......'...... .

2Shelves 15.7x236in 2 Poles 39.4 in 18 Wall clips 7 Joiner plates 18 Screws foranchors 17 Anchors 1/4" 5Wallbrackets 1 Supercloset basket 3 Tornillos con 12 Screws 8x1
2 Entrepafios 2 Parales 18 Chazos jota 7 Pares de 18 Tornillos 17 Chazos de 5 Soportes 1 Canasta tuercas 12 Tornillos
40x60 cm 100cm escudos chazo 8x1 1/4" laterales supercldset 3 Screws with nuts 8x1
n . ='.I m = = =
3 Shelves 1Pole 2 Poles end caps 12 End caps 4 Shelf rail 2 Plastic rails 4 Closet rod 1 Closet tubes 1 Closet tube 3 Support
15.7x35.4in connectors 2 Tapones paral 12 Topes adapter 2 Rieles plasticos supports 35.4in 19.7in brackets 15.7 in
3 Entrepafios 1 Union paral 4 Adaptadores riel 4 Soportes para 1 Tubos 90 cm 1Tubo 50 cm 3 Soportes
40x90 cm tubo diagonales 40 cm

B, ks Required tool
NN \ % ' equired tools |
PN i \ Herramientas necesarias

MASONRY WALL & DRYWALL INSTALLATION
Opciones de instalacion para: MURO & YESO

MASONRY WALL OPTION

Hammer the “screw pin” info the
“wall clip”.

MURO SOLIDO

Martille el clovo roscado en el“chazo J*.

—
o
<
[-
~|
-}
(7]
=
(%]

Shelves: Mark out height, level shelves and mark the holes Drill each hole in the wall with a 1/4" drill bit. Insert DRYWALL OPTION
where the “wall clips” will be installed (mark every 11.8 in, a "wall clip” and then the “screw pin". r— ;

, | Fix the “screw pin” into the “wall clip”.
starting 1.18 in from the shelf corner). Perfore la pared con broca para muro de 1/4".

. . MURO DE YESO
Entrepafios: Trace las alturas, nivele y marque cada 30 cm Introduzca un “chazo J" y coléquele un “clavo ilhd dho st d i I
aprox iniciando a 3 cm de la esquina. roscado”. .

PASO / STEP 4

PASO / STEP 5

If necessary cut the shelf, cover the ends with the Set the back of the shelving into the “wall Place a “wall bracket” on the shelf's front, level it, mark the holes and

corresponding “ends caps”. clips” and press down until it locks in place. drill with drill bit 1/4", insert a wall clip into each hole and screw them.
Si es necesario corte los entrepafios y cologue “topes” Instale los entrepafos, haciendo presion Ubique el “soporte lateral"en el entrepafio, nivele y margue Los orificios del
plasticos. sobre los “chazos J". soporte, perfore con broca 1/4" y fije con chazos y tomnillos.

0 Screw / Tornillo Shelf / Entrepaiio Screw / Tornillo fi

o | ir & ‘ : ]

E 1e— Nut l

[72) Tuerca BE 1!

= «——Support bracket 4

(o] —— ! Joiner plate Soporte diagonal T - 1

g Escudo Joiner plate Pole / Paral

a / L & Escudo

Snap in place the shelf front between “joiner plates” attach “support bracket” with Snap in place the shelf front between the “joiner plates”. Level and drill the pole with

screw and nut. Level and lower end to “wall clip” and “screw”. drill bit 1/8". Set it with screw.
Haga sénduche con los “escudos”, fije el “soporte diagonal” al entrepafio, con Haga sanduche con los “escudos”, nivele y perfore el paral con broca para metal de 1/8". Fije
tornillo y tuerca. Nivele y fije a la pared con chazo y tornillo. con tornillo.

Supercloset’s basket install / Instalacion

" y | - _ v ey ; Install the Closet rod
] g T ‘e [ _ _ - - == support at every 19.7in
— i) ' ' f ¥ ~— — [nstala los Soportes tubo
9 =" w8 - = M B S0 cada 50cm aprox.
i =Y k. - 3
Bend only once / Dobla cada lado solo una vez



